AVX Home Entertainment, Inc., recently began a “no-hassles” return policy. A sample of 540 customers who recently returned items
showed 330 thought the policy was fair, 180 thought it took too long to complete the transaction, . and the rest had no opinion. On the
basls of this. information, make an inference about customer reacion to the new policy. (Round your answers to 1 deC|maI place )
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Identify whether the table given below is a frequency table or a frequency distribution.

——
_—

Selling price Frequency
@ up to 3 5
3up to 6 12
6 up to 9 23
9 up to 12 8
12 up to 15 2

® Frequency distribution

_—
 Frequency table “

< Prev 2 of 10 558 Next >
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Classify the following as a population or sample:
e Qe
a. Two chimpanzees chosen to carry out genetic research.
—_—
® Sample
—_—
- Population

b. All of the people that attended a movie at the local theater last month,
_—

i, - Pofulgion  satadle
B“\ P‘Sgoo — \oo o

Sample
* Population

j—

i < Prev 3010 G Next >
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The foliowing frequency distribution reports the number of frequent flier miles, reported in thousands, for employees of Brumley

Statistical Consulting Inc. during the most recent quarter. —_— _—
Number of
Frequent Flier Miles (800) Employees
@up tod4 «— —_ 4
4 up to 8 — 22
8 up to 12 — 24
12 up to 16

— 7
16 up to 20 — 2
Total -
a. How many employees were studied? \J\"
o o

. . @JVL‘I” —, Q,
M) Point 2 >

b. What is the midpoint of the first class? (Round your answer to 1 decimal place.) L {Z, =
e » =% <
i < Prev  4of10 I Next > — - _ -
Demo Quiz @ Saved Help 'ste& Exit  Subi

4

b. What is the midpoint of the first class? (Round your answer to 1 decimal place.) 5/

—_—

owwk&e/\‘ -
av Wi ()D\”)P\,c N
e Nuthey.

d. A frequency polygon is to be drawn. What are the coordinates of the plot for the second class? (Round your answer to 1 decimal
place.)

< Prev 4010
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The frequency distribution representing the number of frequent flier miles accumulated by employees at Brumley Statistical Consulting
Inc. is given below. — _
Number of

Frequent Flier Miles (e@) Employees
4

@ up t0 4 BT [

4 up to 8 =** 11 v

Sup to 12 e 2
12 up to 16 9
16 up to 20 3
Total — 51

How many employees accumulated less than 12,000 miles?

< Prev 5 of 10
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6 The demand for the video games provided by Mid-Tech Video Games Inc. has exploded in the last several years. Hence, the owner

a

needs to hire several new technical people to keep up with the demand. Mid-Tech gives each applicant a special test that Dr. McGraw,
the designer of the test, believes is closely related to the ability to create video games. For the general population, the mean on this
test is 100. Below are the scores on this test for the applicants. —

=2 D) g = X &
fortheExceI Data File Lo 5 i% (994_5

—
Z The president is interested in the overall quality of the job applicants based on this test.

a. Compute the mean and the median scores for the 10 applicants. (Round your answers to 1 decimal place.)

S— S Je Tt 1001164 @S+ + 12l (1742
/ﬁ n 3

Mean 100.9 i (@)
Median 111.0 = ]_o <) ,%
= _
Mc 11}
Y < Prev 6 of 10 3 Next >
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54 78 68 52 28 48 75 42 68 26 -
45 75 48 66 58 27 46 75 42 67
7 ’ - - » - > 5
Click here for the Excel Data File 2 XI . él
)Yy ——— 3 -
o
a. Compute the arithmetic mean. (Round your answer to 2 decimal places.)
—_
b. Indicate whether it is a statistic or a parameter.
Mc
I < Prey 7 of 10 Next >
Education
Demo Quiz €) Saved q/ Help Save&Exit  Submit
7
N —
8 Determine the median and the first and third guartiles in the following data. S’O V\_%l X
J L ¢ 9§ 1 2309 + J A=~ =
46 47 49 49 51 53 54 55 )
; — O °
49 B Click here for the Excel Data File _’L 1':\‘_1- ‘ﬁ’
— D
Median ! — 53| — )X W M'
L/‘,‘c) First quartile 49 .{n I‘,E V\ L 0o l
Third quartile , 55
= 2

,&/LX(_)’S- = 3

[6d

—_——

Ne o, (Nal) X =
%\/3’ 0[}/”0'«/59 LLQ,()'IQ Yoo
Too = )T

Graw

< Prev
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y month is given in the table below:

May Jun Jul Aug ‘ep Oct Nov Dec’
7.7 7.1 6.2 6.8 6.2 7.8 &M 8.5
= =7 —
¢
Click here for the Excel Data File /@:‘P { Q/
a. What is the arithmetic mean of the Alaska unemployme 47 (Round your answer to 2 decimal places.)
—_—
Q —_—

V\+Lj V\/\bg—(_—:o

b. Find the median and thefor the unemployment rates. (Round your answers to 2 decimal places.)

S— R & E NSNS -

Mc é’n 2
< Prey 9 of 10 i Next >
Education
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b. Find the median and the mode for the unemployment rates. (Round your answers to 2 decimal places.)

6.95

Median Lot
Mode 6.20] <«
-—

(Dec—Mar) months. (Round your answers to 2 decimal places.)
—— e

Mean 7.35| &— k_/\/' ‘}’ -i‘ - ‘ 7) jiﬁ
Median 725 _ (?__J 2
7
[ >
Mc
i < Prey 9 of 10 Next >
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9 ¢-1. Compute the arithmetic mean and median for just the winter (Dec—Mar) months. (Round your answers to 2 decimal places.)

3

7.35
Median 7.25

Mean

¢-2. Is it much different?

(® The winter unemployment rates are higher. l/

0 The winter unemployment rates are lower.

—

) The winter unemployment rates are equal.
—

< Prev.  9of10 I Next >
tion
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The accounting firm of Crawford and Associates has five senior partners. Yesterday the senior partners saw eight, four, eight, four, and
1 O two clients, respectively. - - — =

a. Compute the mean and median number of clients seen by the partners. (Round your answers to 2 decimal places.)

Median [ 4.00

p——

b. The data represents a[grouped data v |.

R

Mc
Graw <
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d. What is the class frequency of the 30 Up to 35 class?

\'s

®. What is the relative frequency of the 30 up'to 35 class? (Round your answer‘mzm '
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The Bookstall Inc. is a specialty bookstore concentrating on used books sold via the Internet. Paperbacks are $16 mﬂ
hardcover books are $4.25. Of the 50 books sold last Tuesday morning, 40 were paperback and the rest were hardco

What was the weighted mean pnce of a bo§k? (RQund your answer to 2 decimal places.) WJ é‘ b(u/ g

Ll e
e |Weighted mean [ == Lo / o &2
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1 0 Compute the mean of the following population values: 4. 3,5, 7. 6. (Round your answer to 1 decimal ¢
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The performance of personal and business investments is measured as a percentage called “return on inveslment.'{,.' ha
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47 48 64 63 10 21 69 32 41 44
56 48 39 64 36 44 57 24 18 1is
49 0978 17 51 4T% 367 5099

Click here for the Excel Data File
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The 75th percentile is referredtoasthe __
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Compute the mean of the following population values: 2, 4, 5, 7, 6. (Round your answer to 1 decimal place.)

/
|

| & 002720)



The Bookstall Inc. is a specialty bookstore concentrating on used books sold via the Internet Paperbacks are $115 each
1 O hardcover books are $370 Of the 100 books sold last Tuesday morning, 95 were paperback and the rest were hardcow

What was the weighted mean price of a book? (Round your answer to 2 decimal places.)
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A bank asks customers to evaluate its drive-through service as good, average, or poor. Which level of measurement is this classification?

e _—
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2 Compute the mean of the following population values: 7. 5, 7, 7, 6. (Round your answer to 1 decimal place.)

R




-~

002749

Evening Session

AL

https://newconnect.mheducation.com/flow/:

—

BUS102 .zt S

onnecthtm! &

Help Save & Exn

A =

-~

of gafions is 10.0. with 3 standard deviation of 3.0

-

T

Submn

AW




%P X KS5A Quizl- Evening Session - B - . Poe .‘ X BUS102 ity 1f

:
| &

https://newconnect.mheducation.com/flow/connecthtm! @ 0}

Help  Save S Exnt Sube

NE performance of personal and business Investments Is measured as a perce nage called “return on investment.” What type of vanable Is "return on Investment*?
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For the following questions, would you collect information using a sample or a population?

a. To find how many books are published in one week by a famous publishing company.

*{Sample

‘K —
\ 2 005&5?‘) Population

b. To test a new drug produced by a biotech company.
Sample
Population
c. To find the number of men and women working in an IT company with 600 people.

Population

Sample

d. To estimate the average salary of doctors in California.

Population

Sample

4 ) eI 4..f Y '
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2 To find how many books are
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A large oll company Is studying the number of galions of gasoiine purchased per customer at self-service pumps. The mean number of gaflons is 10.0. wit
galions. The median is 10.75 gallons. What is Pearson's coefficient of skewness In this Instance?
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The number of families who used the Minneapolis YWCA day car
follows:

69 70 /0 37 21 32 64 3 53 52

41 34 69 33 b 23 11 23 34 16

48 28 9 65 40 23 23 6 39 48
\- "\ i !

Construct a cumulative frequency distribution of this data.
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Number of Packages

20 25 30 35

a. What is this chart called?

«! Frequency polygon
® Histogram
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5 What is the median of 26, 30, 24, 32. 32. 31. 27. and 297

Multiple Choice
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Q 32
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For the following questions, would you collect information using a sample or a population?
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Mm of personal and business investments is measured as a percentage called "return on investment.”
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The number of families who used the Minneapolis YWCA day care servict
follows:
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Construct a cumulative frequenc y distribution of this da
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Molly's Candl
y @ Shop has several retail stores in the coastal areas of North and South Carolina. Many of Molly's customers ask her to -

:

ship thei
p their purchases. The following chart shows the number of packages shipped per day for the last 100 days.

28

S 8

Frequency
=

=

o

Number of Packages

a. What is this chart called?

O Frequency polygon
O Bar chart
O Histogram

y /./'; f

b. What is the total number of frequencies? SeRe
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N You're done!

You submitted this assignment

Total points 36.55/100 points

Total score 36.55%
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d. A frequency polygon is to be drawn. What are the coordinates of the plot for the second class" (Rq

place )
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. The following frequency distribution reports the numt
- Statistical Consulting Inc. during the most recent quar

@ up to 2 6

2 up to 4 10

D 4 up to 6 22
6 up to 8 7

8 up to 10 4

Total 49

a. How many employees were studied?

b. What is the midpoint of the first class? (Round your ai
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Ihe unemployment rate in the state of Alaska Dy month is given in the table below ittty

Jan Feb Mar Apr May

“ 1
O 1 1L 1 i Dec it
L > ) B !
1.0 D, 8.6 6.8 /.4 6.7 6.0 8.1 8.0 6.7 7.9 8.7 "9',
e ——— e —— |
i |
e - (i i |
{ © ' R [T Nere R . (> > I i
| @ 00282 sOere jor the Excel Data File AR
" 13
|""‘
E 'i "i
a. What is the arithmetic mean of the Alaska unemployment rates? (Round your ans

wer 1o 2 decimal [)'OCQS.) Il

(Round your answers to 2 decimal places.)
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I'he frequency distribution representing the number of frequent flier miles a
Inc_is given below

Number of
Frequent Flier Miles (0090) Employees
) ”’[‘ to § 4

. S up to 10 i3
& 001416 18 up to 15
15 up to 20 8
fotal 49

! any { ' in - } 000

This is a numeric cell, so
please enter numbers only.
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(Round your answer to 2 decimal places.)
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Number of

Frequent Flier Miles (000) Employees
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2 b. What is the midpoint of the first class? (Round your answer to 1 decimal place.)

unit

/gon is to be drawn. What are the coordinates of the plot for the second class? (Round your answer to 1 decimal
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Identify whether the table given below is a frequency table or a frequency distribution.

 subjects students
Accounting 10
Finance 5
Economics 3
Management 6
E) Marketing 10

® Frequency table

D Frequency distribution

¢ Pre) - sas Nex@ >
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The accounting irm « f Crawtord ana ASSOCiales has five senior partners Yesterday the senliol partners saw three, six, three, three, and

: ’ . 4 ; T
nve cle 1S ecnecuvely

a. Compute the mean and medaiafl number of clients seen by the pariners (Round your answers to 2 decimal places.)
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AVX Home Entertainment. Inc.. recent
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ently returned items

showed 100 thought the policy was fair, 170 thought it took too long to complete the transaction, and the rest had no opinion. On the
1 f

basis of this information, make an inference about customer reaction to the new policy. (Round your answers to 1 decimal place.)

1 Too long r

No opinion r %

[The above data suggest that majority of the customers " [

e r L

Rl 425 § i WIHEil [ i ‘

g e LI LT ST ET L CORRUIREEE A ERE AR S O L L L LR L L LS I . | S irTE

W 1 ) M i SRS B B S L RS S a A LR ,‘]. l'qu}i
LD e L 2} Y

¥ fdtaloa AA 0 T B — 1'.
I

D eme ~ £ @




Demo Quiz - Pretest

https://newcon

D G

Saved

y Quiz - Pretest 6

—~ Determine the median and the first and third quartiles in the following data.

3

46 47 A4S 49 51 53 54 54 55 55 59

Click here for the Excel Data File

00:225:15

| Median
!i First quartile

| Third quartile
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Classify the following as @ population or sample:

3 Two chimpanzees chosen to carry out genetic research.

O Sample

@ ) Population

b. All of the people that attende

d a movie at the local theater last month..

wrme~ £ @
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The demand for the video games provided by Mid-Tech Video Games Inc. has exploded in the last -several yeatjs_| He?;?:?; c;‘j‘wanerraw
to hire several new technical people to keep up with the demand. Mid-Tech gives each applicant a specid test that Dr. )

= . i SnE lati mean on this
e designer of the test, believes IS closely related to the ability to create video games. For the general population, the
stis

100. Below are the scores on this test for the applicants.

S

114 92 24

IL)
(N
l[‘)
(94}
ot
J
5
0
()

 of the job applicants based on tnis 1€t

The presigent IS ~terested in the overall quality
te swer ecimal place.)
“edian scores for the 10 applicants. (Round your answers told P
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distribution 1

Frequent Fller Miles (©00@)

®@ up to 6

6 up to 12
12 up to 18
18 up to 24

LS

24 Uup 1O

-
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Number of
Employees
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10
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Saved

~ 24 000 miles?
' 24 000 miles

l |:|l Y 'I' i I‘l
.th.‘“

M lqu
|
‘.)n
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- 4 SO o Ir Vot & o
of frequent flier miles accumulated by employees at Brumley Statistical Consulting
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The unemployment rate in the state of Alaska by month is given in the table below:

Oct Nov Dec

Jan Feb Mar Apr May Jun Jul Aug Sep
8.1 9.5 9.0 6.9 3.3 3.8 7459 8.9 7 il 3.1 7.2 7.9
AL
‘ Click he  for the Excel Data F

1-20 ,ii

s? (Round your answer 10 2 decimal places.)

a. What is the arithmetic mean of the Alaska unemployment ra

s

< (Round your answers to 2 decimal places.)
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c-1. Compute the arithmetic mean and median for just the winter (Dec—Mar) months. (Round your answers 10 £ decimal places.)

' Mean

~/ |Median [
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o .
e Determine the median and the first and third quartiles in the following data

— —
- - -
’ 5
k|
= -
5 o X N

BEEg7e 49 49 51 53 54 54 55 55 539

—_—

3]

‘ Click here for the Excel Data File

~ |Median
- fl' = d »

- |First quartile
| Third quartile
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b. The data represents a | (Click to select)
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Quiz Pretosto

Classify the following as a population or sample:

a. All immigrants to the United States in 2005.

AR Population

200:19 | Sample

.-
W/

. A few drops of blood from a patient for blood-typing

Population
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The following frequency distribution reports the number of frequent flier miles, reported in thousa
Statistical Consulting Inc. during the most recent quarter.

Number of

Frequent Flier Miles (©0@) Employees
D

o - -
) UC t0 < 1‘-,
2 up to 4 %
4 up to 6 "‘:
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BUS102 - QUIZ 1- ALL BRANCHES - SUMMER 2021 . o

Help  Save & Exit
1 The main purpose of descriptive statistics is to
Multiple Choice
(‘2 ooz0s)
Y 00.29.45/
summarize data in a useful and informative manner.
O make inferences about a population.
O determine if the data adequately represent the population.
O gather or collect data.
BUS102 - QUIZ 1- ALL BRANCHES - SUMMER 2021 . o Help Save &Exit S.
2 A portion or part of a population is called a
Multiple Choice
(2 o0ze2s)
\ 00.2‘3.26/
O random survey.
sample.
O tally.
O frequency distribution.
BUS102 - QUIZ 1- ALL BRANCHES - SUMMER 2021 ... o Saved Help  Save & Exit
3 The members of each basketball team wear numbers on their jerseys. What scale of measurement are these numbers considered?

R
(& oo20:05)
\ /

Multiple Choice

Naminal

O Ordinal

O Interval

O Ratio



BUS102 - QUIZ 1- ALL BRANCHES - SUMMER 2021 . € Saved Help  Save!

A student was interested in the cigarette-smoking habits of college students and collected data from an unbiased random sample of
students. The data are summarized in the following table
Males who smoke 20
- Males who do not smoke 30
'd ™
‘\2 00:23233'/‘ Females who smoke 25
Females who do not smoke 50

What type of chart would best represent the data from this frequency table?

Multiple Choice

Bar chart
N e
A group of 100 students was surveyed about their interest in a new Internaticnal Studies program. Interest was measured in terms of high,
medium, or low. In the study, 30 students responded high interest, 40 students responded medium interest, and 30 students responded low

interest. What is the relative frequency of students with high interest?

IR
I\g (xxz?-sa/\
— Muliple Choice

0.30

6 During the past six months, a purchasing agent placed the following three orders for coal.
Tons of Coal 1,200 3,000 508
Price Per Ton $25.50 $87.25 $83.80

R
| 00:2156 |
. g /

What is the weighted arithmetic mean price per ton?

Multiple Choice

O $87.25

. $7233




For a sample of similar-sized all-electric homes, the March electric bills were (to the nearest dollar): $212, $191, $176, $129, $106, $92, $108,
$109, $103, $121, $175, and $194. What is the range?

Muliple Choice

O $100

O $130

@

9 Using the following statistics to describe a distribution of data, what is the interquartile range?

Minimum =10
Qq=25
Median = 50
Q3=75
Maximum = 85

Muhiple Choice

If Pearson’s coefficient of skewness is equal to zero, the shape of the distribution is

Multiple Choice

O negatively skewed

symmetric

positively skewed

unknown
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Compute the mean of the [ollowing sample valu 25 12.91.14.58. (Round your answer to 2 decimal places )
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